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Guess Paper – 2011
Class – XII
Subject – Computer Science (083) 
Time Allowed: 3 Hours
          
        

       
         Max. Marks: 70
Instructions:

i) All questions are compulsory.

ii) Programming language: C++..

iii) Please write down the complete serial number of the question before attempting it.
1.
(a) What is the difference between Call by Reference and Call by Value?

2

(b) Which C++ header file(s) will be essentially required to be included to run execute 
        the following C++ code: 






            1

void main()

{

char Msg[ ]="Sunset Gardens";

for (int I=5;I<strlen(Msg);I++)

puts(Msg);

}

       (c) ). Rewrite the following program after removing the syntactical errors (s), if any.    

    Underline each correction.
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#include<iostream.h>






void main( )

{
int P[ ]={90,10,24,15}; Q, Number = 4;
Q = 9;

for[int I=Number-1;I>=0,I- -]

switch(I)

{
case 0;

case 3:cout>>P[I]*Q<<endl; break;

case 1:

case 2: cout<<P[I]+Q;

}

}

(d) 
Find the output of the following program:




3



#include <iostream.h>



#include <ctype.h>



#include <string.h>



void main()



{




char Text1[]=”Pre Board”, Text2[]=”2010”;




char text[20];




strcpy(Text,Text2);




strcat(Text,” “);//Single spaces inside the quote “ “




strcat(Text,Text1);




for(int Loc=0;Text[Loc]!=’\0’;Loc++)




{





if(islower(Text[Loc]))




Text[Loc] = toupper(Text[Loc] + 1 );



else if (isupper(Text[Loc]))




Text[Loc] = Text[Loc] – 1;



else if (isdigit (Text[Loc]))




Text[Loc]=Text[Loc] +1;



else




Text [Loc]=’#’;


}

cout<<Text<<endl;

}

(e) Find the output of the following program:
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#include <iostream.h>

struct Game

{

char Magic[20];int Score;

};

void main()

{

Game M={"Tiger",500};

char *Choice;

Choice=M.Magic;

Choice[4]='P';

Choice[2]='L';

M.Score+=50;

cout<<M.Magic<<M.Score<<endl;

Game N=M;

N.Magic[0]='A';N.Magic[3]='J';

N.Score-=120;

cout<<N.Magic<<N.Score<<endl;



}

(f) In the following program, find the correct possible output(s) from the options:
2
# include <iostream.h>

# include <stdlib.h>

const int limit = 4;

void main ( )

{ 
int points;


randomize ( );


points = 100 + random (limit);


for (int P= points; P >= 100; P-- )



cout << P << “#”;

cout <<endl;

}

Output options:

    
i) 103#102#101#100#


ii) 100#101#102#103#

    
 iii) 100#101#102#103#104#    
iv) 104#103#102#101#100#

2. . (a) What is ‘this’ pointer? What is its significance?




2
(b) Answer the questions (i) and (ii) after going through the following program:
2

class Match

{


int Time;

public:


Match()





//Function 1


{

Time=0;

cout<<”Match commences”<<end1;

}

void Details()




//Function 2


{

cout<<”Inter Section Basketball Match”<<end1;

}


Match(int Duration)

//Function 3


{

Time=Duration;

cout<<”Another Match begins now”<<end1;

}

Match(Match &M)

//Function 4


{

Time=M.Duration;

cout<<”Like Previous Match ”<<end1;

}

};

i) Which category of constructor - Function 4 belongs to and what is the purpose of using it?

ii) Write statements that would call the member Functions 1 and 3

(c)  Consider the following declarations and answer the questions given below:
4

class PUBLISHER

{
char Pub[12];



double Turnover;

protected:



void Register();

public:



PUBLISHER();



void Enter();



void Display();


};

class BRANCH

{
char CITY[20];

protected:



float Employees;

public:



BRANCH();



void Haveit();



void Giveit();

};

class AUTHOR: public BRANCH, private PUBLISHER

{
int Acode;

char Aname[20];



float Amount;

public:



AUTHOR();



void Start();



void Show();

};

(i) Which type of inheritance is depicted in the above example.

(ii) Write the names of all the members which are accessible from objects belonging to class AUTHOR.

(iii) Write the names of all the member functions which are accessible from member function Start( ) of class AUTHOR.

(iv) Is the function Display( ) accessible inside the function Haveit( )? Justify your answer.

(d) Answer the questions (i) and (ii) after going through the following class. 

2
class Match

{
int Time;

public:


Match()




/Function 1


{ 
Time=0;

cout<<”Match commences”<<end1;

}

void Details()




//Function 2


{ cout<<”Inter Section Basketball Match”<<end1;

}


Match(int Duration)



//Function 3


{
Time=Duration;

cout<<”Another Match begins now”<<end1;

}

Match(Match &M)



//Function 4


{
Time=M.Time;

cout<<”Like Previous Match ”<<end1;

}

~Match()




/Function 5


{
cout<<”Match Over”<<end1;

}

};

iii) Which member function out of Function1, Function2, Function3, Function4 and Function5 of class MATCH is called automatically, when the scope of an object gets over? What it represents and explain it specific feature.

iv) What is represented by Function1, Function2, Function3 and Function4? Write the statements that would call the member Functions 4?
3.(a)
Write a function in C++ which accepts an integer array and its size as arguments and rearranges the array such that each half of the array is reversed.



Example: if an array of ten elements initially contain




4, 2, 5, 1, 6, 7, 8, 12, 10 ,15



Then the function should rearrange the array as




6, 1, 5, 2, 4, 15, 10, 12, 8, 7



If an array of nine elements initially contain




4, 2, 5, 1, 6, 7, 8, 12, 10



Then the function should rearrange the array as




1, 5, 2, 4, 6, 10, 12, 8, 7





3


(b) An array P[20][30] is stored in the memory along the column with each of the element occupying 4 bytes, find out the memory location for the element P[5][15], if an element P[2][20] is stored at the memory location 5000.




3


(c) Write a function in C++ to perform Insert operation in a dynamically allocated Queue containing names of students.







3

(d) Write UDF in C++ which accepts an integer array and its size as arguments/ parameters and assign the elements  into a 2 D array of integers in the following format :
3


If the array is 1,2,3,4,5

             The resultant 2D array is given below 


1 0 0 0 0 


1 2 0 0 0


1 2 3 0 0


1 2 3 4 0


1 2 3 4 5

(e) Evaluate the following postfix notation of expression:



2

20,30,+,50,40,-,*

4. Observe the program segment given below carefully and fill the blanks

marked as Statement 1 and Statement 2 using seekp() and seekg() functions

for performing the required task. 
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#include <fstream.h>

class Item

{

int Ino;char Item[20];

public:

//Function to search and display the content from a particular record number

void Search(int );

//Function to modify the content of a particular record number

void Modify(int);

};

void Item::Search(int RecNo)

{

fstream File;

File.open("STOCK.DAT",ios::binary|ios::in);

______________________ //Statement 1

File.read((char*)this,sizeof(Item));

cout<<Ino<<"==>"<<Item<<endl;

File.close();

}

void Item::Modify(int RecNo)

{

fstream File;

File.open("STOCK.DAT",ios::binary|ios::in|ios::out);

cout>>Ino;cin.getline(Item,20);

______________________ //Statement 2

File.write((char*)this,sizeof(Item));

File.close();

}

(b) Write a function to count the number of VOWELS present in a text file named 

“PAPA.TXT”.










2

(C)Write a function in C++ to add new objects at the bottom of a binary file

"STUDENT.DAT", assuming the binary file is containing the objects of the

following class. 







3

class STUD

{

int Rno;

char Name[20];

public:

void Enter(){cin>>Rno;gets(Name);}

void Display(){cout<<Rno<<Name<<endl;}




};

5.(a)
What do you understand by Primary Key & Candidate Keys?


2
    (b)Write SQL commands for (i) to (vii) on the basis of the table LAB

Table : LAB
	NO


	ITEM NAME
	COST
	QTY
	DATEOFPURCHASE
	WARRANTY
	OPERATIONAL

	1.
	COMPUTER
	45000
	9
	21/5/2006
	2
	7

	2.
	PRINTER
	15000
	3
	21/5/2007
	4
	2

	3.
	SCANNER
	21000
	1
	29/8/2008
	3
	1

	4.
	CAMERA                   
	12000
	2
	13/6/2006
	1
	2

	5.
	HUB
	4000
	1
	31/10/2009
	2
	1

	6.
	UPS
	5000
	5
	21/5/2006
	1
	4

	7.
	PLOTTER
	13000
	2
	11/1/2000
	2
	2



i) to select the item name purchased after 31/10/2007




        1

ii) to list item name, which are within the warranty period till present date


        1 

iii) to list the name in ascending order of the date of purchase where quantity is more than 3.       1   
iv) to count the number of items whose cost is more than 10000.

                                  1


v) Give the output of the following SQL commands :
                                                            2


a) SELECT MIN(DISTINCT QTY) FROM LAB;


b) SELECT MIN(WARRANTY) FROM LAB WHERE QTY=2 ;


c) SELECT SUM(COST) FROM LAB WHERE QTY>2 ;


d) SELECT AVG(COST) FROM LAB WHERE DATEOFPURCHASE<{1/1/2009} ;

(6) 
(a) State and prove De- Morgan’s first law using algebraic method.


2

(b) Draw logical circuit diagram for the following Boolean expression. 

2
F= AB + B’C + C’A’
(c) Write the POS form of a Boolean Function F, which is represented by the following truth table: 









1
	A
	B
	C
	F

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	1

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	0

	1
	1
	1
	1


(d) Reduce the following Boolean expression using K-map.



3
F(P,Q,R,S)= ( (1,2,3,4,5,6,7,9,11,12,13,15)

7.(a) What do you mean by a router and switch?




1
(b) Expand the following terminologies with respect to Networking:

2

i) ISP 

ii) ARPANET

 iii) CDMA 
iv) TCP/IP.

(c) What are cookies? 








1

(d) What do you mean by a computer virus? Also define Trojan Horses and worms? 
2

(e) Oxford University has set up its new center at Mumbai for its office and web based activities. The company compound has 4 buildings as shown in the diagram below:  4


[image: image1]
 

Center to center distances between various blocks

	Black A to Block B
	50 m

	Block B to Block C
	150 m

	Block C to Block D
	25 m

	Block A to Block D
	170 m

	Block B to Block D
	125 m

	Block A to Block C
	90 m




Number of Computers

	Black A 
	25

	Block B 
	50

	Block C 
	125

	Block D
	10


i)
Suggest a cable layout of connections between the blocks.




ii) 
Suggest the most suitable place (i.e. block) to house the server of this organisation with a suitable reason.
iii)    Suggest the placement of the following devices with justification



(i) Repeater   ii) Hub/Switch

v) The organization is planning to link its front office situated in the city in a hilly region where cable connection is not feasible, suggest an economic way to connect it with reasonably high speed?
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